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1. [bookmark: _Toc122434485][bookmark: _Toc77341693]Overview
This document lists all the changes needed to correct issues in the ATS iWD-TTCN3-B2020-09_D21wk24 related to the title of this CR.
Contact:	Shaun Harry
	shaun.harry@keysight.com
1. [bookmark: _Toc122434488][bookmark: _Toc295288959][bookmark: _Toc77341694]Corrections required
1. [bookmark: _Toc30685521][bookmark: _Toc77341695]Change 1
	Function name
	f_TC_7_1_3_4_1_NR_Step10to23

	Reason for change
	Following the implementation of R5-213462, the current implementation of v_ExpectedPdu4 at step 15 allows either v_ExpectedPdu1 or v_ExpectedPdu2 to be received, but does not allow for a list containing both  ( “()” brackets are used instead of “{}”). Similarly for v_ExpectedPdu5 and v_ExpectedPdu6.

	Summary of change
	Redefine v_ExpectedPdu1, v_ExpectedPdu2 and v_ExpectedPdu3 to be single PDUs (NR_PDCP_PDU_Type). Then combine them into lists in v_ExpectedPdu4, v_ExpectedPdu5 and v_ExpectedPdu6,  to be allow all specified PDUs entries to be recieved, in any order.

	TTCN module
	PDCP_TC_Common_NR.ttcn

	MCC160 Comment
	



Before Change
	function f_TC_7_1_3_4_1_NR_Step10to23(inout NR_PDCP_SS_State_Type p_NR_PDCP_State, boolean p_WaitforRRCConCmp := false) runs on NR_BASE_PTC
  {
    …………………………………
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu1;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu2;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu3;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu4;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu5;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu6;
    
………………………………………………
   
   //@siclog "Step 15" siclog@
   //@sic R5-213462 sic@
    p_NR_PDCP_State.RX_NEXT:= 2;//@sic R5-196261 sic@
   
    v_ExpectedPdu1:= {f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT)};
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu2:= {f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT)};
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu3:= {f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT)};
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu4:= (v_ExpectedPdu1, v_ExpectedPdu2);
    v_ExpectedPdu5:= (v_ExpectedPdu2, v_ExpectedPdu3);
    v_ExpectedPdu6:= (v_ExpectedPdu1, v_ExpectedPdu2, v_ExpectedPdu3);
    
  alt {
      // receive PDU1
      []  DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, v_ExpectedPdu1)) -> value v_ReceivedPdu1
        {
          v_TimingPreviousSlot := v_ReceivedPdu1.Common.TimingInfo.SubFrame;
          alt {
            // receive PDU2
            [] DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, v_ExpectedPdu2)) -> value v_ReceivedPdu2
            {
                v_TimingCurrentSlot := v_ReceivedPdu2.Common.TimingInfo.SubFrame;
                f_NR_SubFrameTiming_DifferentSlots (v_TimingCurrentSlot, v_TimingPreviousSlot);
                v_TimingPreviousSlot:= v_TimingCurrentSlot;
                
                // receive PDU3
	              DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, v_ExpectedPdu3)) -> value v_ReceivedPdu3
                v_TimingCurrentSlot := v_ReceivedPdu3.Common.TimingInfo.SubFrame;
                f_NR_SubFrameTiming_DifferentSlots (v_TimingCurrentSlot, v_TimingPreviousSlot);
                f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 15");
            }
                
            // receive PDU2 and PDU3
            [] DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, v_ExpectedPdu5)) -> value v_ReceivedPdu5
            {
                v_TimingCurrentSlot := v_ReceivedPdu5.Common.TimingInfo.SubFrame;
                f_NR_SubFrameTiming_DifferentSlots (v_TimingCurrentSlot, v_TimingPreviousSlot);
                f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 15");
            }
           }
         }
      // receive PDU1 and PDU2
      [] DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, v_ExpectedPdu4)) -> value v_ReceivedPdu4
        {
          v_TimingPreviousSlot := v_ReceivedPdu4.Common.TimingInfo.SubFrame;
            // receive PDU3
           DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, v_ExpectedPdu3)) -> value v_ReceivedPdu3;
          
……………………………
  }



After Change
	function f_TC_7_1_3_4_1_NR_Step10to23(inout NR_PDCP_SS_State_Type p_NR_PDCP_State, boolean p_WaitforRRCConCmp := false) runs on NR_BASE_PTC
  {
    …………………………………
    var template (present) NR_PDCP_PDU_Type v_ExpectedPdu1;
    var template (present) NR_PDCP_PDU_Type v_ExpectedPdu2;
    var template (present) NR_PDCP_PDU_Type v_ExpectedPdu3;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu4;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu5;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu6;
    
…………………………
   
   //@siclog "Step 15" siclog@
   //@sic R5-213462 sic@
    p_NR_PDCP_State.RX_NEXT:= 2;//@sic R5-196261 sic@
   
    v_ExpectedPdu1:= {f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT)};
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu2:= {f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT)};
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu3:= {f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT)};
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu4:= ({v_ExpectedPdu1, v_ExpectedPdu2},{v_ExpectedPdu2, v_ExpectedPdu1});
    v_ExpectedPdu5:= ({v_ExpectedPdu2, v_ExpectedPdu3}, {v_ExpectedPdu3, v_ExpectedPdu2});
  v_ExpectedPdu6:= ({v_ExpectedPdu1, v_ExpectedPdu2, v_ExpectedPdu3},
{v_ExpectedPdu1, v_ExpectedPdu3, v_ExpectedPdu2},
{v_ExpectedPdu2, v_ExpectedPdu1, v_ExpectedPdu3},
{v_ExpectedPdu2, v_ExpectedPdu3, v_ExpectedPdu1},
{v_ExpectedPdu3, v_ExpectedPdu1, v_ExpectedPdu2},
{v_ExpectedPdu3, v_ExpectedPdu2, v_ExpectedPdu1});
    
  alt {
      // receive PDU1
      []  DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, {v_ExpectedPdu1})) -> value v_ReceivedPdu1
        {
          v_TimingPreviousSlot := v_ReceivedPdu1.Common.TimingInfo.SubFrame;
          alt {
            // receive PDU2
            [] DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, {v_ExpectedPdu2})) -> value v_ReceivedPdu2
            {
                v_TimingCurrentSlot := v_ReceivedPdu2.Common.TimingInfo.SubFrame;
                f_NR_SubFrameTiming_DifferentSlots (v_TimingCurrentSlot, v_TimingPreviousSlot);
                v_TimingPreviousSlot:= v_TimingCurrentSlot;
                
                // receive PDU3
	              DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, {v_ExpectedPdu3})) -> value v_ReceivedPdu3
                v_TimingCurrentSlot := v_ReceivedPdu3.Common.TimingInfo.SubFrame;
                f_NR_SubFrameTiming_DifferentSlots (v_TimingCurrentSlot, v_TimingPreviousSlot);
                f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 15");
            }
                
            // receive PDU2 and PDU3
            [] DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, v_ExpectedPdu5)) -> value v_ReceivedPdu5
            {
                v_TimingCurrentSlot := v_ReceivedPdu5.Common.TimingInfo.SubFrame;
                f_NR_SubFrameTiming_DifferentSlots (v_TimingCurrentSlot, v_TimingPreviousSlot);
                f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 15");
            }
           }
         }
      // receive PDU1 and PDU2
      [] DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, v_ExpectedPdu4)) -> value v_ReceivedPdu4
        {
          v_TimingPreviousSlot := v_ReceivedPdu4.Common.TimingInfo.SubFrame;
            // receive PDU3
           DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell2, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell2), -, {v_ExpectedPdu3})) -> value v_ReceivedPdu3;
          
……………………………
  }



1. [bookmark: _Toc77341696]Change 1
	Function name
	f_TC_7_1_3_4_1_NR_Step10to23

	Reason for change
	Following the implementation of R5-213462, the current implementation of v_ExpectedPdu3 at steps 30-31 allows either v_ExpectedPdu1 or v_ExpectedPdu2 to be received, but does not allow for a list containing both  ( “()” brackets are used instead of “{}”).

	Summary of change
	Redefine v_ExpectedPdu1 and v_ExpectedPdu2 to be single PDUs (NR_PDCP_PDU_Type). Then combine them into a lists in v_ExpectedPdu3,  to be allow both PDUs entries to be recieved, in any order.

	TTCN module
	PDCP_TC_Common_NR.ttcn

	MCC160 Comment
	



Before Change
	function f_TC_7_1_3_4_1_NR_Step25to30(inout NR_PDCP_SS_State_Type p_NR_PDCP_State,  boolean p_WaitforRRCConCmp := false) runs on NR_BASE_PTC
  {
    ……………………………………… 
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu1;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu2;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu3;
………………………………………………
   
   //@siclog "Steps 30 - 31" siclog@
   //Check: Does the UE transmit a PDCP Data PDU via RLC-AM RB with the following content back to the SS? D/C field = 1 (PDCP Data PDU) and PDCP SN=6 on NR Cell 1.
   //Note: Data is previously received packet in PDCP Data PDU#6.(Note 9)
   //Check: Does the UE transmit PDCP Data PDU via RLC-AM RB with the following content back to the SS? D/C field = 1 (PDCP Data PDU) and PDCP SN=7 on NR Cell 1.
   //Note: Data is previously received packet in PDCP Data PDU#7(Note 9).
    //@sic R5-213462  sic@
    v_ExpectedPdu1:= {f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT)};
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu2:= {f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT)};
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu3:= (v_ExpectedPdu1,v_ExpectedPdu2);
    
    alt {
      // receive PDU1
      []  DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell1, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell1), -, v_ExpectedPdu1)) -> value v_ReceivedPdu1
        {
          v_TimingPreviousSlot := v_ReceivedPdu1.Common.TimingInfo.SubFrame;
          // receive PDU2
          DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell1, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell1), -, v_ExpectedPdu2)) -> value v_ReceivedPdu2;
…………………………………………
  }



After Change
	function f_TC_7_1_3_4_1_NR_Step25to30(inout NR_PDCP_SS_State_Type p_NR_PDCP_State,  boolean p_WaitforRRCConCmp := false) runs on NR_BASE_PTC
  {
    ………………………………………… 
    var template (present) NR_PDCP_PDU_Type v_ExpectedPdu1;
    var template (present) NR_PDCP_PDU_Type v_ExpectedPdu2;
    var template (present) NR_PDCP_PDUList_Type v_ExpectedPdu3;
    
…………………………………………
   
   //@siclog "Steps 30 - 31" siclog@
   //Check: Does the UE transmit a PDCP Data PDU via RLC-AM RB with the following content back to the SS? D/C field = 1 (PDCP Data PDU) and PDCP SN=6 on NR Cell 1.
   //Note: Data is previously received packet in PDCP Data PDU#6.(Note 9)
   //Check: Does the UE transmit PDCP Data PDU via RLC-AM RB with the following content back to the SS? D/C field = 1 (PDCP Data PDU) and PDCP SN=7 on NR Cell 1.
   //Note: Data is previously received packet in PDCP Data PDU#7(Note 9).
    //@sic R5-213462  sic@
    v_ExpectedPdu1:= f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT);
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu2:= f_NR_PDCP_PDU_Get(p_NR_PDCP_State.PDCP_SN_Size, p_NR_PDCP_State.RX_NEXT);
    f_NR_PDCP_Increment_NEXT_RX(p_NR_PDCP_State,1);
    v_ExpectedPdu3:= ({v_ExpectedPdu1,v_ExpectedPdu2},{v_ExpectedPdu2,v_ExpectedPdu1});
    
    alt {
      // receive PDU1
      []  DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell1, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell1), -, {v_ExpectedPdu1})) -> value v_ReceivedPdu1
        {
          v_TimingPreviousSlot := v_ReceivedPdu1.Common.TimingInfo.SubFrame;
          // receive PDU2
          DRB.receive(car_NR_DRB_COMMON_IND_PDCP_PDUList_DC(nr_Cell1, p_NR_PDCP_State.DRB_Id, cr_RlcBearerRouting_NR(nr_Cell1), -, {v_ExpectedPdu2})) -> value v_ReceivedPdu2;
          ……………………………………………………… 
  }





